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00 2.1 0000000 w:(xl ),y:<y1>eR2DDDDDDD (inner product) O
X2 Y2
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z| = V(z, x)
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(3) [DOO]
1) 000 «,y,z000 (x+y,2)=(x,2)+(y,z) DOOODODO

2) 000 2,y 000000 «000 (az,y)=a(x,y) DOOOODO

(4) 20 y00000AODODOODD0 x000yOO0OOODO HZ%DDDDDDDDD
O (z,y) =|x||lylcosd DODODO OO
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0o T = Yy = DDDDXDDDDDDDDDDDD(x1X+y1)2[I[I[I[I
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X1 Z1
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00 2.6 x= Sy = eC" 0000000 (inner product) O
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(x,y) =171+ - + T
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00 2.7 (1) [000] D00 zeC"000 (,2)20000000 (z,2)=000000
x=00000000

(2) [00000] 000 @,yeC"000 (z,y)=(y,z) 000000
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(1) 000 z,y,zc R"O00 (w,y+2)=(z,y)+ (x,2) 000000
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(1) 000 #,9,2€ C" 000 (z,y+2) = (x,y) + (x,2) 000000
(2) 000 @,y C"0000000 aeC OO0 (z,ay) =a(e,y) 000000

00000000000 Schwarz DOOD0OO0O0OD0OO0OOO (w,y) 00000000000
O0z0yUOO0O0OOUODOOOOOOOOOD (zr,y)=000000000000000000OO

30



